

Lecture 6

Integration by parts

Product rule: $\frac{d}{dx}(f(x)g(x)) = f'(x)g(x) + f(x)g'(x)$

Take $\int dx$ of both sides:

$$f(x)g(x) = \int f'(x)g(x) dx + \int f(x)g'(x) dx$$

$$\Rightarrow \int f(x)g'(x) dx = f(x)g(x) - \int f'(x)g(x) dx$$

Or: write $u = f(x)$ $v = g(x)$
 $du = f'(x) dx$ $dv = g'(x) dx$

then $\int u dv = uv - \int v du$

$\leftarrow u \quad \rightarrow dv$
L I A T E
0 1 log base 'j' x p
g v g
s g e
try

Q Find $\int x \cos(5x) dx$.

$$u = x$$
$$du = dx$$

$$v = \frac{1}{5} \sin(5x)$$
$$dv = \cos(5x) dx$$

$$= uv - \int v du$$

$$= x \cdot \frac{1}{5} \sin(5x) - \int \frac{1}{5} \sin(5x) \cdot dx$$

$$= \underline{\underline{\frac{x}{5} \sin(5x) + \frac{1}{25} \cos(5x) + C}}$$

Q Find $\int \ln x dx$.

$$\ln x dx = u dv$$

$$\int \ln x dx = uv - \int v du$$

$$= x \ln x - \int x \cdot \frac{1}{x} dx$$

$$u = \ln x \quad v = x$$
$$du = \frac{1}{x} dx \quad dv = dx$$

$$\left(\frac{du}{dx} = \frac{1}{x}\right)$$

$$= x \ln x - \int 1 dx$$

$$= \underline{\underline{x \ln x - x + C}}$$

$$\text{LI(A)T(E)}$$

\uparrow \uparrow
 t^2 e^t

Q Find $\int e^t t^2 dt$,

$$u = t^2 \quad v = e^t$$

$$du = 2t dt \quad dv = e^t dt$$

$$= uv - \int v du$$

$$= t^2 e^t - \int e^t 2t dt$$

$$= t^2 e^t - 2 \int e^t t dt$$

$$= t^2 e^t - 2(uv - \int v du)$$

$$= t^2 e^t - 2(te^t - \int e^t dt)$$

$$= \underline{\underline{t^2 e^t - 2te^t + 2e^t + C}}$$

Do IBP AGAIN:

$$u = t \quad v = e^t$$

$$du = dt \quad dv = e^t dt$$

Ex $\int e^x \sin x dx$

$$\left(\begin{array}{l} u = \sin x \quad v = e^x \\ du = \cos x dx \quad dv = e^x dx \end{array} \right)$$

$$\int e^x \sin x dx = e^x \sin x - \int e^x \cos x dx$$

$$= e^x \sin x - (e^x \cos x - \int e^x \sin x dx) \left(\begin{array}{l} u = \cos x \quad v = e^x \\ du = -\sin x dx \quad dv = e^x dx \end{array} \right)$$

$$= e^x \sin x - e^x \cos x - \int e^x \sin x dx$$

IBP
twice

$$\longrightarrow 2 \int e^x \sin x dx = e^x \sin x - e^x \cos x$$

$$\int e^x \sin x dx = \frac{1}{2}(e^x \sin x - e^x \cos x)$$

$$\underline{Q} \int_0^{\pi} t \sin(3t) dt$$

$$u = t$$

$$du = dt$$

$$v = -\frac{1}{3} \cos(3t)$$

$$dv = \sin(3t) dt$$

$$\int_0^{\pi} t \sin(3t) dt = uv \Big|_{t=0}^{t=\pi} - \int_{t=0}^{t=\pi} v du$$

$$= (t) \left(-\frac{1}{3} \cos 3t\right) \Big|_0^{\pi} - \int_0^{\pi} -\frac{1}{3} \cos(3t) dt$$

$$= \pi \cdot \left(-\frac{1}{3} \cos 3\pi\right) - 0 \cdot \left(-\frac{1}{3} \cos 0\right) + \frac{\sin(3t)}{9} \Big|_0^{\pi}$$

$$= \pi \cdot \left(-\frac{1}{3}\right) (-1) - 0 + \frac{1}{9} (\sin 3\pi - \sin 0)$$

$$= \underline{\underline{\frac{\pi}{3}}}$$

$$\underline{Q} \int \cos(\sqrt{x}) dx = ?$$

$$= \int \cos(t) dx$$

$$= \int \cos(t) \cdot 2\sqrt{x} dt$$

$$= \int \cos(t) \cdot 2t dt$$

$$\text{IBP: } u = 2t$$

$$du = 2 dt$$

$$v = \sin t$$

$$dv = \cos t dt$$

$$= uv - \int v du = 2t \sin t - \int \sin t (2 dt)$$

$$= 2t \sin t + 2 \cos t + C$$

$$= \underline{\underline{2\sqrt{x} \sin \sqrt{x} + 2 \cos \sqrt{x} + C}}$$

$$\int_{\theta=\sqrt{\frac{\pi}{2}}}^{\theta=\sqrt{\pi}} \theta^3 \cos(\theta^2) d\theta$$

try by parts:

$$u = \cos(\theta^2) \quad v = \frac{1}{4}\theta^4$$

$$du = -2\theta \sin(\theta^2) d\theta \quad dv = \theta^3 d\theta$$

$$\rightarrow \int u dv = \int \theta^3 \cdot (-2\theta \sin \theta^2) d\theta$$

$$= -2 \int \theta^4 \sin \theta^2 d\theta$$

NO HELP

try subst: $t = \theta^2 \quad dt = 2\theta d\theta \quad d\theta = \frac{dt}{2\theta}$

$$\int_{t=\frac{\pi}{2}}^{t=\pi} \theta^3 \cos(t) \frac{dt}{2\theta}$$

$$= \int_{t=\frac{\pi}{2}}^{t=\pi} \frac{1}{2} \theta^2 \cos(t) dt$$

$$= \int_{\frac{\pi}{2}}^{\pi} \frac{1}{2} t \cos(t) dt$$

OR, IBP $\int \theta^3 \cos(\theta^2) d\theta$

$$u = \theta^2 \quad v = \frac{1}{2} \sin(\theta^2) d\theta$$

$$du = 2\theta d\theta \quad dv = \theta \cos(\theta^2) d\theta$$

$$\dots \underline{\underline{-\frac{1}{2} - \frac{\pi}{4}}}$$